


ER 22.0

EM BL

tCO2/

tCO2/ 112.9

90.6

ER  = EM BL  EM PJ

EM PJ tCO2/



c)  

EM PJ,S tCO2/ 0.8

CEF electricity,t

EM PJ,M EL PJ × CEF electricity,t

tCO2/ 89.8

157,610.7

EM PJ tCO2/ 90.6

EM PJ,M tCO2/ 89.8

EM PJ  = EM PJ,M  EM PJ,S

10

EL PJ

tCO2/kWh

kWh/

0.00057

EM PJ,M

EM PJ,S,lesk  = LA PJ GWP PJ

11 LA PJ = FA PJ LR PJ

EM PJ,S,lesk tCO2/ 0.8

LR PJ / 5.0

GWP PJ tCO2e/t 1300

LA PJ t/ 0.0006

FA PJ t 0.012



86.4

EL PJ kWh/ 157,610.7

GJ/ 1,407.1

PJ 248

Q PJ,heat GJ/ 1,407.1

EMBL,M = QBL,heat ×  100/ε_BL   × CFEBL,fuel

tCO2/ 112.9

CEF BL,fuel

Q BL,heat GJ/ 1,407.1

QBL,heat = QPJ,heat = ELPJ PJ/100 3.6 1000

tCO2/GJ 0.0693

EM BL

Q BL,heat



0.0693CEFBL,fuel
CO2

tCO2/GJ A 1

86.4

1 0.000570CEFelectricity,t CO2 tCO2/kWh

εPJ % 248.0

εBL %

157,610.7ELPJ kWh/ 1C
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